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Class work sheet 
Complete 

1. The symbol of sodium atom is ……, while the symbol of sulphur atom 

is…… 

2. The atom consists of two main parts which are ……………..and……………. 

3. (Au) is the symbol of ………….element, while (Ag) is the symbol of 

………….element 

4. Electrons are particles with……….. charges, while protons are particles 

with…………….charges 

5. If the mass number of an element is 35 and it has 18 neutrons in its

nucleus, therefore the number of electrons is……………and its atomic 

number is………. 

6. The number of neutrons=…………………………………………………. 

7. The energy level that has the highest energy is……, while ……..level has 

the lowest 

8. The outermost energy level of chlorine atom (   ) contains 

……….electrons so, it is considered from …………….elements 

9. Noble gases have 8 electrons in the outermost energy level

except………which has ………..electrons 

10. Active elements should have …..than 8 electrons in their outermost 

energy level 

Write the scientific term: 

1. The fundamental building unit of matter that can take part in the

chemical reaction (………………………..) 

2. Positively charged particles in the nucleus of an atom (…………………) 

3. Negatively charged particles of negligible mass that revolve around

nucleus                                                                  (…………………………)

4. The atom that gains a quantum of energy (……………………….) 

 Atomic structure of matter
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Write the names of the elements of the following symbols : 

 H …………….                     2)  I ……………….                       3) O ………….. 

 Si ……………                      5) Cu ……………..                       6) Fe …………. 

 

Write the electronic configuration for the following atoms: 

1) 𝐻 2
                                                                             2)    

   

 

3)     
                                                                               4)     

2  

Problem: 

If you know that the symbol of chlorine atom is (     
  ) 

a) Calculate the atomic number, mass number and no. of neutrons 

b) Write the electronic configuration of the atom 

……………………………………………………………………………………………………

……………………………………………………………………………………………………

…………………………………………………………………………………………………… 

Give reason  

1. The nucleus of an atom is positively charged 

…………………………………………………………………………………………… 

2. The mass of the atom is concentrated in the nucleus 

…………………………………………………………………………………………… 

3) The rule   2is not applied on energy level greater than 4  

…………………………………………………………………………………………… 

4) Atoms of active element take part in the chemical reaction 

…………………………………………………………………………………………… 
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4. Sodium atom is active, while argon is inactive  

…………………………………………………………………………………………… 

Write the electronic configuration for the following: 

 

1)    
  2) 𝑂 

   

 

3)     
   4)    2

2  
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Class work sheet 
Complete 

1) ………………is the ability to do work and its measuring unit is……. 
2) Resource of permanent energy is ……………. 
3) ………….energy can be stored in car battery
4) An object of mass 2kg. is moving at a speed 4m/sec.has a kinetic energy

of……. 
5) Potential energy =………..x………… 
6) Mass is determined by …..unit, while the weight is determined by 

……..unit 
7) Kinetic energy increases by increasing …………and………of the object 
8) Weight of object = ……………………. 
9) When a body is raised up, the potential energy …………., while the kinetic 

energy……………… 

10) If the P.E of an object is 100 joules and its kinetic energy is 50 joules, its
mechanical energy is ……………………………… 

What is meant by: 

1. Potential energy of an object is 30 joule
…………………………………………………………………………………………………… 

2. Kinetic energy of an object is 20 joule
…………………………………………………………………………………………………… 

3. Mechanical energy of an object is 100 joule
…………………………………………………………………………………………………… 

Write the scientific term: 

1. The ability to do work or to make a change    (…………………………..) 
2. The measuring unit of energy  (…………………………..) 
3. The work done during motion of an object     (…………………………..) 

Give reason: 

1. When an object falls from up to down, its potential energy decreases
………………………………………………………………………………………………………………
……………………………………………………………………………………………………………… 

 Energy Resources and forms
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2. The value of K.E of an object can’t be more than its mechanical energy 
………………………………………………………………………………………………………………
……………………………………………………………………………………………………………… 

Problems: 

1. If the work done to move a box to distance of 2 meters equals 40 joules. 
Calculate force 
………………………………………………………………………………………………………………
……………………………………………………………………………………………………………… 

2. Calculate the weight of an object, whose mass is 5 kg. if you know that 
the acceleration due to gravity is 9.8     2 
……………………………………………………………………………………………………………… 

3. If a ball thrown vertically to reach 20 m. height and its weight is 5 
newton .calculate its potential energy at:  
a)the highest 
point:…………………………………………………………………………………… 
b)the ground:………………………………………………………………………………………… 

4. Calculate the mechanical energy of a moving object if its kinetic energy 
is 1000 joules and its potential energy is 500 joules. 
……………………………………………………………………………………………………………… 

5. A ball was launshed upwards vertically at a speed of 3 m/sec. up to 
height 4 m. calculate the work done on the ball if its weight =5 newton, 
and its mass is 0.5 kg 
………………………………………………………………………………………………………………
………………………………………………………………………………………………………………
……………………………………………………………………………………………………………… 

 
Home work sheet  

Choose: 

1. Food and fuel are sources of …………………. Energy 
a)Chemical            b)mechanical              c)sound              d)electric 

2. An object of mass 2kg. is moving at a speed of 4 m/sec. has K.E of………. 
a)16 j              b)64 j              c)32 j              d)128 j 

3. When a speed of a moving object is doubled, its kinetic energy ……….. 
a)not changed          b)will be 4 times its value  
c)will be doubled       d) will be 3 times its value 
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4. Mechanical energy is the sum of …………………. Energies 
a)heat and potential              b)light and kinetic  
c)kinetic and potential              d)potential and light 

5. As an object falls downwards……………….. 
a)the potential energy icreases               b)the kinetic energy increases 
c)the mechanical energy is lost               d)the speed of the object 
decreases 

Write the scientific term: 

1. The stored energy in an object due to work done on it   (……………..) 
2. The sum of potential energy and kinetic energy of an object (…………)   

What is meant by: 

1. The stored energy in the object due to the work done on it =100 joules 
……………………………………………………………………………………………………………… 

2. The kinetic energy of an object = 50 joules 
……………………………………………………………………………………………………………… 

Give reason: 

1. The person who pushes a car consumes energy 
………………………………………………………………………………………………………………
……………………………………………………………………………………………………………… 

2. At the maximum height of ball, its mechanical energy is equal to its 
potential energy only. 
………………………………………………………………………………………………………………
……………………………………………………………………………………………………………… 

Problems: 

1. Find a weight of an object of potential energy 88 joule when it is found 
at a height 11 m 
………………………………………………………………………………………………………………
……………………………………………………………………………………………………………… 
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2. Calculate: 
a)The potential energy of an object, whose weight is 10 newton. And 
placed at 5 m height from ground 
………………………………………………………………………………………………………………
………………………………………………………………………………………………………………. 
b)The kinetic energy of an object, whose mass is 2 kg and moving at a 
speed of 5 m/sec 
………………………………………………………………………………………………………………
……………………………………………………………………………………………………………… 
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Classwork sheet

Complete

1. When you move the pendulum to the left, then release it,
the………Energy changes into ……………..Energy 

2. When pendulum goes away from its rest point to reach maximum height
the …………..Energy is maximum and…………….Energy is zero 

3. The positive pole in the simple electric cell is .......…... while the negative 
pole is …………………………. 

4. The mechanical Energy of pendulum at the highest point equals …………. 
5. In cellular phone, the ………….energy changes to …………energy 
6. When you lift an object you do work stored in the object in the form of

……….. 
7. In the solar cells, solar energy converted to …………….energy 

Write the scientific term: 

1. Energy is neither created nor destroyed, but it is converted from one
form to another  (…………………………….) 

2. The pollution produced from the networks of wireless transmitters of
cellular phones  (……………………………) 

Give a reason: 

1. Some technological applications have negative effects
………………………………………………………………………………………………………………
……………………………………………………………………………………………………………… 

2. The moving object keeps its mechanical Energy during motion constant
………………………………………………………………………………………………………………
……………………………………………………………………………………………………………… 

3. When pendulum reaches maximum point the kinetic Energy equals zero
………………………………………………………………………………………………………………
……………………………………………………………………………………………………………… 

Energy transformations
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Problems: 

1. A moving pendulum has a potential energy of 0.8 joule at maximum 
displacement, if the mass of its ball is 0.08 kg. and acceleration due to 
gravity is 10 m    2 Calculate: 
a) the height of pendulum at maximum displacement  
………………………………………………………………………………………………………………
…………………………………………………………………………………………………… 
b)the kinetic energy of pendulum at such point  
………………………………………………………………………………………………………………
…………………………………………………………………………………………………… 

2. A pendulum, whose mass is 0.2 kg  and its mechanical energy is 1.2 joule 
and its kinetic energy during its passing by the rest position is 0.9 joule 
Calculate : 
1)The potential energy of pendulum at the rest position 
………………………………………………………………………………………………………………
……………………………………………………………………………………………………………… 
2)The kinetic energy of pendulum at maximum point  
………………………………………………………………………………………………………… 
3)The speed of pendulum at the moment of passing by the rest position 
………………………………………………………………………………………………………………
………………………………………………………………………………………………………………. 

3. The mass of pendulum is 0.5 kg and its speed at rest point is 6 m/sec 
Calculate kinetic energy at maximum displacement  
………………………………………………………………………………………………………………
………………………………………………………………………………………………………………. 

4. Someone kicked a ball of mass 0.5 kg and weight 5 N. At height of 4 
meters its speed was 10 m/sec. Calculate 
a) the potential energy at 4 meters  
………………………………………………………………………………………………………… 
b) The work done on the ball at the starting point  
………………………………………………………………………………………………………………
………………………………………………………………………………………………………………. 
c) the maximum height that the ball reached 
………………………………………………………………………………………………………………
……………………………………………………………………………………………………………… 
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Homework sheet  

Choose: 

1. In cellular phone, the …………………. 
a) Electric energy changes to mechanical energy 
b)Light energy changes to heat energy 
c)Electric energy to sound and light energies 
d)Chemical energy changes to light energy  

2. The motor converts the electric energy to………………energy 
a)Magnetic                                                          b)Chemical 
c)Light                                                                   d)Kinetic 

3. In the car engine, the chemical energy changes into ……….energy at first  
a)Heat                                                                   b)Electric 
c)Mechanical                                                       d)Light  

4. Electric energy is converted to kinetic energy in ……….. 
a)Electric lamp                                                      b)Cellular phone 
c)Electric fan                                                          d)Electric bell 

Complete: 

1. The simple electric cell consists of …….solution is dipped in it 2 different 
………… 

2. In the electric heater,……………energy changes to …………………….energy 
3. …………….energy is changed into electric energy in the battery 
4. When the pendulum goes away from its rest position to reach maximum 

height the……………energy is the maximum and …………energy is zero 
5. In simple electric cell, the electric current passes through the wire 

from…………plate to……………plate 

Give a reason: 

1. Using batteries in electric circuits 
………………………………………………………………………………………………………………
……………………………………………………………………………………………………………… 

2. Car engine is important to the car  
………………………………………………………………………………………………………………
……………………………………………………………………………………………………………… 
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Problems: 

1. A moving pendulum has mechanical energy of 40 joule. Calculate its 
kinetic energy and potential energy at highest point  
…………………………………………………………………………………………………………
………………………………………………………………………………………………………… 

2. A ball is thrown vertically to reach 20 meter height. If the weight of 
the ball is 5 Newton. Calculate its kinetic energy at  
a) the highest point:………………………………………………………………………  
b) the midpoint : ……………………………………………………………………………… 
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1. The Latin name of sodium is ……………….and its symbol is …………………… 

2. The charge of protons is …………………..and they present inside the ………….. 

4. The atomic no. = ………………………… = ……………………………… 

5. No. of energy levels are ………………in the heaviest atom. 

6.The energy of level "L" is ……………..than level ……………….because the 

 energy of  each level depends on …………………. 

7. The mass of the atom is concentrated in ……………………. 

8. The no. of neutrons = ………………… - …………………….. 

9. The charge of the electrons is …………….………while the charge of atom is 

 …………….. 

10. The Latin name of Potassium is ……………….and its symbol is ……………….. 

11.The Latin name of iron is …………….. and its symbol is ………………… 

12. As we go further from the nucleus, the energy of the level ……………….. 

13.When an electron near the nucleus move to a higher level, it …………… 

     a quantum and the atom become …………. 

14.The atomic number of an atom has 3 electrons in "M" level equals……………. 

15.The energy level "L" of carbon atom (6C) contains…………..electrons , while that 

     of  Sulfur atom (16S) contains ……………electrons. 

16.When atomic number equals mass number. That means that there is no ………….. 

     in this atom. 

1. The no. of electrons changes in the atom.

......................................................................................................................................... 
2. The electron loses energy.

......................................................................................................................................... 
3. The electron gains energy.

......................................................................................................................................... 
4. If the no. of electron in the last energy level is less than 8 e.
........................................................................................................................................ 

5. The no. of electron in the last energy level = 8.
......................................................................................................................................... 

Q1 Complete the following statement 

Q2 What happens if:

Atomic Structure Of Matter
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1. The sum. of no. of protons and neutrons in the nucleus.   (……………………….) 

2. Positively charged particles exist inside the nucleus.        (……………………….) 

3.Imaginary regions in which electrons rotate.                      (……………………….) 

4.The amount of energy lost or gained when the electron transfers from an energy   

    level to another.                                                                  (……………………….) 

5.Elements have 8 electrons in their outermost energy level.(……………………….) 

 

 

A - Write the electronic configuration of each the following:  

1. 
40

20 Ca 2. 
4

2 He 3. 
39

19 K 
 

 

a. What is the name of each symbol? 

……………………………………………………………………………………….… 

b. Determine the no. of protons, electrons and neutrons. 

…………………………………………………………………………………..…… 

c. Determine if the atom is active or not. 

………………………………………………………………………………………… 
 

B - An element(X) its atomic no. is 13 and its mass no. is 27  

1. Determine the no. of neutrons. 

2. Write the electronic configuration. 
 

C - From the following figure find: 

 

                                k       L     M     N 

 

                    +20 

                     20 

 

                               2       8      8      2 

1. The atomic no. ………………        2-  The mass no……..……. 

3- No. of protons ………………         4-No. of electrons …………………… 

5- No. of neutrons ………..…… 

Q4 Answer the following : 

Q3 Write the scientific term: 
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2. D - Write the electronic configuration of each the following: 

 1. 
7

3 Li                           2. 
1

1 H                 3. 
35

17 C 

a. What is the name of each symbol? 

b. Determine the no. of protons, electrons and neutrons. 

c. Determine if the atom is active or not. 
 

E  - An element Y has 7 electrons in the third energy level and its mass no. is 35       

Determine:  

No. of protons.        No. of electrons.        No. of neutrons.  

Write its electronic configuration.  

Determine if the atom is active or not. 

 F - Write the symbol of the following elements:  

1. Iron… ………………2. Mercury…………….3. Lead……………….. 

4. Sulphur……………..5. Silicon……………….6. Bromine…………….. 

7. Zinc…………………8. Sodium……………...9. Potassium…………… 

 

 

 

1. The symbol of element may be represented in 2 letters. 

………………………………………………………………………………………… 

2. The atom is electrically neutral. 

……………………………………………………………………………….………… 

3. The nucleus is +ve charged.  

……………………………………………………………………………….………… 

4- The mass of the atom is concentrated at the nucleus.  

……………………………………………………………………………….………… 

5. The there is a relation between no. of electrons and the chemical activity. 

………………………………………………………………………………………… 

6. Although the last energy level in Helium has 2 electrons it doesn’t    

    participate in any chemical reaction. 

………………………………………………………………………………………… 

H) An element Y has 7 electrons in the third energy level and its mass no. is 35       

    Determine:  

No. of protons.       No. of electrons.      No. of neutrons.  

Write its electronic configuration.  

Determine if the atom is active or not. 

Q5 Give reasons for 
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1-When a body is raised up ,the potential energy ……………,while the kinetic 

 energy ………………… 

2- When balls falls down ,…………..energy changes into……….energy 

3- At maximum height , the kinetic energy of the object equals …………. 

4- As the force is increased to double , the work done will …………… 

5- ……………,……………and ……………are from the energy resource 

6- Work = …………×……... 

1-……………….is a permanent source of energy 

a) petrol b) the sun c) coal

2-Food and fuel are sources of ……………energy. 

a) chemical b) electric  c)sound 

3-When a body falls freely its ……………. 

a) P.E decreases and K.E increase b) P.E and K.E increase.

c) P.E and K.E decrease

4- When a body is projected upward, the sum. of its P.E and K.E………. 

a) increase b) decreases.     c) remains constant d) equals

5-potential energy equals…………………. 

 a)weight× height   b) mass × height c) no correct answer

1. The mechanical energy of the body is always constant.

…………………………………………………………………………………………. 
2. The potential energy on the ground = zero.

………………………………………………………...…………………………….… 
3-The K.E at maximum height equal zero. 

……………………………………………………...……………………………… 
4- No change in potential energy when the object moves horizontally.

……………………………………………………...………………………………… 

Q1 Complete the following statement 

Q2 Choose the correct answer 

Q3 Give reason for 

Energy, Resources and forms 
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a) An objects ,whose mass is 2 kg and it is at height of 5 cm from earth's surface
calculate the potential energy .

………………………………………………………………………………………… 

b) What is the weight of the body ,whose potential energy is 88 joules and it is at
height of 11m?

…………………………………………………………………………....…………… 

c) Calculate the K.E of a car moves with velocity 20 m / s if it mass is 900 kg

………………………………………………………………………………………… 

d) Calculate the kinetic energy of a body its weight 48 N that moves with a speed

4 m/sec. knowing that the gravitational acceleration  is 9.8 m/s
2
?

……………………………………………………………………………………… 

e) A body of mass 50 kg , calculate the height from the Earth’s surface if its P.E at

that  height equals 2500 joule ( g = 10 m / s
2
 ) .

………………………………………………………………………………………… 

f)A body of weight 20N and its mass is 2 kg was thrown upward .

Height Velocity P.E K.E M.E

0 m 10 ……………        100 …………….. 

3.75 ………….. ……….. 25 Joule  ………… 

………… 0 …………… ……………. …………….. 

1-Energy : 

………………………………………………………………………… 

2-Mechanical energy : 

…………………………………………………………………………. 

Q4 Problems 

Q5 What's meant by?
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- Energy conservation Law.

…………………………………………………………………………………… 

1. In the electric lamp …………energy is converted into …………energy. 

2. On leaving the pendulum to move freely ……………energy is converted to 
 ……….and this confirm the law of ………………….. 

3. In the moving swing the sum. of ………………….and ……………energies at any 
 moment is …………………. 

4. The Lemon contains ……………..solution. 

5. …………….from the technological application that causes air pollution.

6. Electric energy is changed into ……………energy in the electric bell. 

1-The pendulum, the kinetic energy of vibration body decrease when it goes away 
 from its originals position to its highest point . 

............................................................................................................................ 
2- The movement of the compass needle when we put it nears to the simple cell.
……………………………………………………………………………….. 

3-Car engine is important to the car. 
………………………………………………………………………………… 

1. It is used to convert the mechanical energy into to electrical energy.  [...................] 

2. It is composed of an acid solution with two different metals dipped in. [….............] 

3. Energy is neither created nor destroyed but it changed from one form to another [....................] 

4. The sum. of P.E and K.E of an object under the effect of gravity is constant. [.................] 

5. Instrument is used to convert the chemical energy into electrical energy. [.......................] 

Q2 Complete the following statement 

Q3 Give reason for 

Q1 What's meant by

Q4 Write the scientific term 

Energy Transformations 
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Prep 1 unit 2                                         Name :-……………………. 

Quiz on lesson 1,2 

:for the following reasons ) giveQ1 

1- Some counties try to use wind energy & solar energy as resources of energy 

……………………………………………………………………………………………………………………………………........ 

2- When a stone is thrown upward its potential energy increases 

………………………………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………………………………. 

3- When the mass of moving increases its kinetic energy increases 

……………………………………………………………………………………………………………………………………….... 

4- When the ball of the pendulum reaches the maximum height the kinetic 

energy equals zero 

…………………………………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………………………………… 

5-when two different metals connected with a compass are dipped in a lemon 

the needle of the compass deflect 

……………………………………………………………………………………………………………………………………………. 

……………………………………………………………………………………………………………………………………………. 

 

-: complete the following sentenceQ2)  

1- ……………………is the ability to do work and its measuring unit is ……………………………. 

2- We obtain ……….. Energy from electric lamps, & …………. Energy from solar cell 

3- Kinetic energy increases by increasing ………………. And ……………………… 

4- If the speed of a moved object is doubled, its kinetic energy ………………….. 

5- in the simple cell the electric current passes through the wire from 

…………………….. plate to ………………..plate 

6- the simple cell consists of …………. solution dipped in two different ……………… 

7- When the ball of the pendulum reaches the maximum height, potential 

energy equals …………………only 

8- The webs of wireless transmitters of cellular phone causes ……………………… 

pollution, while the car exhaust cause ………………………………pollution 
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  -: Q3) Choose the correct answer            

              1-if a man tries to move a car by force equals 6N but the car doesn’t move  

              any displacement so the work will be ………………… 

           a- maximum value                  b- zero                           c-work equal to force 

             2-sun and wind are sources of …………… energy      

A           a-chemical                             b- kinetic                        c-electric     

4           3- ……………… is permanent source of energy  

             a-Sun                                     b- moon                           c- Windows User  

4           4- when the height increases 8 times and the weight decreases quarter then 

               the potential energy …………………   

             a- increases three times       b- decreases double           c- increases double 

4           5- if the mass of object increases double and the speed decreases half so 

                the K.E will ………………. 

              a-decreases                           b- increases                        c- remains constant 

             6- at maximum height …………. Is vanished 

               a- Potential energy               b- kinetic energy                c- mechanical energy 

             7-as the object falls down …………………. 

A            a- P.E decreases                    b- K.E increases                  c-both a & b   

5           8-mechanical energy at any point is the sum of ……………   

              a- two kinetic energy             b- two potential energy        c- P.E & K.E 

 

-: tableQ3) complete the following  

Energy produced Energy used The instrument 

……………………………. 

…………………………….. 

……………………………. 

……………………………. 

………………………………. 

…………………………….. 

……………………………. 

……………………………. 

………………………….. 

…………………………… 

1- simple cell 

2- cellular phone 

3- radio cassette 

4- electric motor 

5-solar cell 

 

-: termsQ5) write the scientific  

1- The ability to do work or to make a change          (………………………………) 

2- The work done during the motion of the object (………………………………). 
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3- The sum of potential and kinetic energy (……………………………….) 

4- Energy is neither creating nor destroyed but it converted from one form to 

anther (……………………………) 

5- The device which is used to convert the chemical E into electric E 

(……………………….……) 

 

:problems -Q6 
a- find the potential energy of an object whose mass is 5kg when it is found at a 

height of 10 m from the ground?  

…………………………………………………………………………………………………………………………………………… 

b- Calculate the speed of a moving body whose mass is 80 kg and kinetic energy is 

1000 joules? 

………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………………….. 

c- from the opposite fig answer the following question:     

1- at which position the potential energy is minimum  

 and not equal zero?    

               a- A & D                            b-B &E                      c- C & F 

              2- If the weight is 5N and the distance from C to B  

                   2meter and the distance from E to D is 2 meter and the  

                          distance from D to A equals 1.5 meter so the Kinetic energy at B=………… 

a             a-27.5J                             b- 17.5J                   c-zero        

              3- potential energy at point C is …………… 

A            a-27.5 J                            b- 17.5J                     c-zero 

 

?  Q7) what happen when             

            1-falling object from highest position (its mass) 

           ……………………………………………………………………………………………………………………………………………….     

            2-over use of chemical pesticides  

            ………………………………………………………………………………………………………………………………………………. 

            3-burning fuel inside the car engine  

…           …………………………………………………………………………………………………………………………………………… 

With my best wishes of success 

Miss Rabab Mahsoub 



 

Stage: prep.1                                                                                                                               Subject: Science 

Channel: Mr. Science                                                                                                                 Year: 2022-2023 

November model exams 1st Prep. 

 

   وقت نزولها  الشرح  اشترك في قناة مستر ساينس على اليوتيوب لتشاهد فيديوهات 

Model exam (1) 

1) Complete the following:  
1) The symbol of sodium is .................. while that of Sulphur is…………………… 

 2) When an electron transfer from (M) level to (N) it …………quantum of energy 

3) in car radio cassette ................... energy changes to ……………………energy  

4) In simple cell  ………… is the positive pole  

2) a ) Mention each of the following :  

1) A clean source of energy ………………………………… 

 2)  the number of neutrons in …………………………………………. 

3) a non-renewable source of energy. ……………………………………….. 

4) A permanent resource of energy…………………………….. 

b)  Form the following fig if the mechanical energy is 50 J find its  

potential energy and kinetic energy at point  (1) …………………………………………………………………. 

3) Put sign (√) or (x) in front of each of the following, then correct the wrong one :- 

1- When a stone fall down its kinetic energy increase                                                               (            )  

2- the outermost energy level of an atom of active elements contain 8 electrons                      (            ) 

3- In nuclear reactor, nuclear energy changes into electric energy                                             (            ) 

4- when an atom lose quantum of energy it will be an excited atom                                          (            ) 

(4) Write the electronic configuration for each of the following:  

1- Calcium 20Ca
40

                2-Chlorine 17C1
35 

               3- Nitrogen 7 N
14                            

4- Argon 18 Ar
40 

 

5)A) Cross the odd word out:   

1) coal – petrol  oil – wind movement – natural gas 

2)Atomic number - protons number - mass number - electrons number. 

5)B) Problem:  A moving pendulum, its mass 5 kg , its mechanical energy is 200 j and its 

potential energy at rest position is 50 j calculate.  (g=10 m /s2 ) 

a) the height of the pendulum at its rest position from the earth surface 

b) the potential energy at maximum height   

…………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………….. 
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   وقت نزولها  الشرح  اشترك في قناة مستر ساينس على اليوتيوب لتشاهد فيديوهات 

Model exam (2) 

1)Complete the following statements 

1.the atomic number of a neutral atom has 2 electrons in ( L )energy level is ……………  

2- Protons have …………charge while electrons have ……………charge  

 3. In photosynthesis process. …………. energy changes into …………energy 

 4- In electric heater ………….energy change into …………….. 

2) Write the scientific term of each of the following:  

1) The ability to do work or to make a change. (……………………….) 

2) The fundamental building unit of matter      (… …………) 

3) Energy is neither created nor destroyed but it is converted from one form another. (…………………….) 

4) Imaginary region around the nucleus in which electron move according to their energies. (… ………….) 

 5) the energy sored in body due to work done on it                                                    (……………………….) 

6) it is the sum. of potential and kinetic energy .                                                       (…………………….….) 

3) Correct the underline word: 

 1) when the Hight increase to doble its potential energy increase four times  (……………………….)  

2) chemical pesticide causes electromagnetic pollution                                   (……………………….)  

3) In solar cell the solar energy is changed into magnetic one. . (……………………….) 

 4) electric energy change into Light energy  in sewing machine. (……………………….) 

4) from the figure find:  

1) Complete the electronic configuration …….. 

2) Atomic no .............                                         

3) is this elements chemically active or not?..................................................... 

5) Write the symbol of each of the followings 
1- Sulphur                  2- Iron               3- potassium 

6) Give reason for each of the following  

1- When the pendulum reaches to max. height the potential energy equal the mechanical energy   

…………………………………………………………………………………………………………….. 

2- Some countries use wind energy and solar energy as a resource of energy . 

…………………………………………………………………………………………………………….. 

 

+12 

 



 

Stage: prep.1                                                                                                                               Subject: Science 

Channel: Mr. Science                                                                                                                 Year: 2022-2023 

November model exams 1st Prep. 

 

   وقت نزولها  الشرح  اشترك في قناة مستر ساينس على اليوتيوب لتشاهد فيديوهات 

 Model exam (3)  

1) Choose the correct answer from each of the following: 

1- Which of the following devices pollutes the environment?  

a-gas oven                b-electric oven        c- electric heater                     d- solar heater  

2- Chemical energy can be stored in ………. 

 a-stretched spring    b- car battery          c- a person on a mountain     d- car lamp 

3- A body of mass 2 kg move with speed 4 m /s calculate its kinetic energy. 

 a-4 J                        b- 16 J                     c-12  J                                    d- 32 J  

4- In car engine chemical energy change into …………energy  

a-electric                 b-potential              c- kinetic                                d-sound 

 2)Correct the underlined word: 

1) Water movement is a permanent source of energy.  

2) The nucleus of the atom is negatively charged. 

 3) lamp produces sound energy. 

4)In electric iron electric energy change into sound energy  

5)The chemical symbol of potassium Pt. 

6)The fourth energy level (N) is saturated with 8 electrons    

3) Find the potential energy of an object of weight 10 newton when it is found at 

height of 12 m…………………………………………………………………………………………… 

4) a ) Cross the odd word out: 

1) potential energy – chemical energy  - kinetic energy – mechanical energy .  

 2) Sodium - Oxygen - Helium – magnesium  

b) from the opposite fig. answer the following   

label the fig. 1-……….   2-……………..    3-…………………   4-……………….. 

5) Give reason for: 

    1- No change in potential energy when the object moves horizontally 

……………………………………………………………………………………………………………………. 

    2- Atom is electrically neutral. 

……………………………………………………………………………………………………… 
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   وقت نزولها  الشرح  اشترك في قناة مستر ساينس على اليوتيوب لتشاهد فيديوهات 

Model exam (4) 

1)Complete the following statements:  

1-  ………energy level has the highest energy  

 2) In the dynamo.................. energy changes into ................energy!  

3) Loud speakers and drilling machines causes ………..pollution   

4) Joule  =   …………. x meter   

5) The measuring unit of work is......., while the measuring unit of weight is…………….. 

6) K.E =  1\2 x …………. X ………... 

2)Choose from column B what suits column A 

A B 

1) In simple call the positive pole is a rode of a. Kinetic 

2) Electric fan change electric energy into  b- Chemical . 

3) energy stored in plants by photosynthesis process C- Heat 

4) In gas stove chemical energy change into  d - Copper 

3) Write the scientific term for each of the following: -  

1- The atom that gains a quantum of energy.                                                                     (                       )  

2- the work done due to the motion of an object                                                                (                      ) 

3- Energy is neither created nor destroyed, but it is converted from one form to another.(                       )  

4-The amount of energy that gained or lost by an electron when it transfer form one energy level to 

another                                                                                                                               (                       ) 

4)] What is meant by: 

1) the atomic number of calcium =20……………………………………………………………………  

2) the mechanical energy of body = 100 j……………………………………………………………… 

5) Show by drawing the electronic configuration of each of following elements:  

𝟐𝟕
𝟏𝟑

Al                             
𝟐𝟎
𝟏𝟎

Ne                                      
𝟑𝟐
𝟏𝟔

 S                                             
𝟑𝟓
𝟏𝟕

Cl 

6) Calculate the kinetic energy of a body its weight 48 N that moves with a speed 4 m/sec. knowing that 

the gravitational acceleration is 9.8 m/s 2 ? 

............................................................................................................................. .................. 

............................................................................................................................................... 
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   وقت نزولها  الشرح  اشترك في قناة مستر ساينس على اليوتيوب لتشاهد فيديوهات 

Model exam (5 

 Choose the correct answer:  

1- from the fig. the maximum potential energy at point  .........  

(a) 1                        (b) 2                             (c) 3                                             (d) 4  

2- the energy of level (L) is higher than ……..energy  level. 

(a) K                     (b) M                             (c) N                                            (d) O 

3-An object of mass 50 kg is moving at speed of 2 m/s has a K.E= ........ J  

(a) 100                   (b) 50                              (c) 200                                      (d) 25 

4-..............causes massive destruction  

(a) chemical pesticide           (b) mobile phone                (c) loud speakers                  (d) nuclear weapon   

5- In the simple pendulum, the kinetic energy at maximum height equals... 

(a) zero                  (b) potential energy          (c) mechanical energy              (d) electric energy  

6- mass number is the number of ........  

(a) Protons                  (b) neutrons                (c) protons x neutron             (d) protons + neutron          

 2)Calculate the potential energy of an object its weight is 20N, places at 5m height 

from the ground………………………………………………………………………………. 

b-  From the opposite figure, answer the following: 

1) Mention the name of the device……………………… 

 2) Label the figure. 1-……………….        2-………………… 

3) Complete: it converts ........... energy into .............. energy. 

3)From the following fig.  

-Four balls at the same height from sand ,the 

 Depth that occurs by the balls when they fall  

Down is recorded in the table below 

a)Which ball store less energy ? 

b)Which two balls have the same masses? 

4)Give reason for: 

1) The mass of atom is concentrated in the nucleus.  

………………………………………………………………………………………………………………………………. 

2) Helium is inactive element  

…………………………………………………………………………………………………………………………….. 

+   

- 
1   2   
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   وقت نزولها  الشرح  اشترك في قناة مستر ساينس على اليوتيوب لتشاهد فيديوهات 

Model exam (6) 

1) Choose the correct answer:  

1) Negative charged particles with negligible mass... 

(electrons - protons – nucleus -  neutrons ) 

2) If the speed of an object motion increase into double, its kinetic energy ……………… 

(Zero -  doubled  -  increased four times) 

3) The number of energy levels in the heaviest atom = ............. 

(   1   -   3  -   5    -    7    ) 

 4) The atomic number for an atoms that has 3 electrons in the third energy level is ………. 

(3      -   5  -   13  -  15 ) 

2)Mention the type of energy in these examples : 

1- A body at the top of mountain  ……………………………………………………………….. 

2- a compressed spring  ………………………………………………………………. 

3-a moving bicycle …………………………………….. 

4-  inside food …………………………………………………………………………. 

3) problem :A moving pendulum has a potential energy of 0.8 joule at maximum height  

If the mass of its ball is 0.08 kg and acceleration due to gravity 10 m/s
2

  

Calculate: -  

The height of the pendulum …………………………………………………………………………………………….. 

4) Mention one difference between:  

1) The electron and the proton. 

…………………………………………………………………………………………………………………………………….. 

2) Neon atom and Oxygen atom  

…………………………………………………………………………………………………………………………………….. 

5) Mention one example of:  

1) A device changes solar energy into heat energy.  

……………………………………………………………… 

2)body exert force but there is no work done  

 ………………………………………………………………. 
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   وقت نزولها  الشرح  اشترك في قناة مستر ساينس على اليوتيوب لتشاهد فيديوهات 

  Model answer    (  model 1 )  

1} 

 1- Na     -   S  

2- Gain  

3- electric   - sound  

4- copper 

2}  a )   1- sun  

            2- 12 

            3- Coal – petrol oil  

      4- sun   

B) P.E is maximum = 50 j                 K.E = zero   

3}    1- √                         2-x inactive              3-√                 4-x gain 

4}    1- 2,8,8,2            2-     2,8,7             3-    2,5              4-  2,8,8 

5} 1- wind movement    2- mass number    

  B)     a) W = m x 10 = 5 x 10 = 50 J    

          h = P.E   / W  = 50 /50 = 1 m 

         b) P.E at max. height = Mechanical energy =  200 j  

  

  Model answer    (  model 2 )  

1} 

 1- 4    

2- positive  - negative   

3- light    - chemical          

4- electric  - heat  

2}    1- energy      2-  atom       3- law of conversation of energy       4- energy level        

            5 – potential          6- mechanical  

    3}   1- double        2- chemical          3- electric       4- kineti   

4}  1-    2,8,2              2- 12                3- active  

5}  1- S                2- Fe                 3-K 

6}  1- Bec. Kinetic energy equal zero   

     2- Bec. They are clean and cheap source of energy  
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   وقت نزولها  الشرح  اشترك في قناة مستر ساينس على اليوتيوب لتشاهد فيديوهات 

  Model answer    (  model 3 )  

1} 

 1- a      2- b     3- d     4- c    

     2}    1- renewable       2- positively        3- light        4- radio     5- K       6- 32        

     3}   P.E  = wxh  = 10 x 12 = 120 j       

4}  a)  1- chemical                      2- Helium 

      b) 1- nucleus       2-  protons       3- neutrons     4- electrons         

5}  1-  Bec.  Potential energy depends on the height of body and the height doesn’t change  

     2- Bec. The number of positive protons equal the number of negative electrons 

 

  Model answer    (  model 4 )  

1} 

 1- Q     

2- kinetic (mechanical ) 
 

    -     electric  

3- Noise 

4- Newton   

5- J    -    N  

6- Mass      -     V 
2
 

2}    1- d          2-  a       3- b       4- c          

    3}   1- excited atom        2-  K.E         3- Law of conservation of energy        4- Quantum         

4}  1-    means that the number of protons or the number of electrons = 20   

           2- the sum. Of potential and kinetic energy =200 j  

 

5}  1-    2,8,3          2-   2,8,            3-    2,8,6         4-    2,8,7 

6} mass = W/9.8   =  48/9.8 = 4.89 kg  

    K.E = ½ mv
2

  = ½ x 4.89x4
2

 = 39 J  

 

 

 

 

 

 

 

 



 

Stage: prep.1                                                                                                                               Subject: Science 

Channel: Mr. Science                                                                                                                 Year: 2022-2023 

November model exams 1st Prep. 

 

   وقت نزولها  الشرح  اشترك في قناة مستر ساينس على اليوتيوب لتشاهد فيديوهات 

  Model answer    (  model 5 )  

1} 

 1- d (4)         2- a (K)         3-  a (100 j)       4- d  (nuclear weapon )     5- c (mechanical     

     6- d ( protons+ neutrons )  

 

2}    a )  P.E = WXh = 20x5 = 100 J 

 

        b) 1- simple cell     - 2- copper     3- zinc     -    4- chemical to electric 

 

    3}   1- B 

           2- A , D 

 

4}  1- because the mass of electrons outside the nucleus can be neglected compared to the mass of 

protons and neutrons inside the nucleus  

     2-  Bec. The last energy level is completely filled with electrons    

 

Model answer    (  model 6 )  

1} 

 1- electron         2- increased four times            3-  7          4-  13  

     2}     

           1- Potential energy      -    2- Potential energy        3- Kinetic energy     -    4- chemical energy  

    3}   w = mx10 = 0.08 x10 = 80 N 

          h = P.E / W  =  0.8 / 80 = 0.01 m  

 

4}  1-   electron :  negative charged   -  outside the nucleus  

           Proton : positively  charged   -  inside  the nucleus 

      2- Neon :   inert gas   - monoatomic    inactive  

          Oxygen :  :   active gas   - diatomic    
 

5}    1- solar heater       

        2-  a boy carry a bag and stand don’t move          

 

 


